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Guess Paper – 2010
Class – XII
Subject – Mathematics

Time : 3 hours
    
Max. Marks : 100

General Instructions:

The question paper consists of three sections A, B and C. Question numbers 1 to 10 in section A are of 1 mark each. Question numbers 11 to 22 in section B are of 4 marks each. Question numbers 23 to 29 in section C are of 6 marks each.
SECTION – A

1.
Show that * : R × R → R given by (a, b) → a + 4b2 is a binary operation.
2. 
Find the value of cos (sec–1 x + cosec–1 x), | x | ≥ 1
3.
If A = 
[image: image1.wmf]ú

û

ù

ê

ë

é

2

1

3

2

 and I = 
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 Find x and y Such that A2 = xA + yI.
4.
Find values of x for which 
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5.
Simplify : 
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6.
Evaluate :
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7.
Evaluate 
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8.
Find 
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9. 
Find the direction cosines of x-axis.
10.
If
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, are such that 
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 is perpendicular to 
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 , then find the value of (.
SECTION-B

11.
Let A = R – {3} and B = R – {1}. Consider the function f : A → B defined by 
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. Show that f is bijective.
12.
Using properties of determinants, prove that :
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13.
Prove that : 
[image: image22.wmf]x

cos

2

1

4

x

1

x

1

x

1

x

1

tan

1

1

-

-

-

p

=

÷

÷

ø

ö

ç

ç

è

æ

-

+

+

-

-

+

, 
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OR
Solve for x : 
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14. If the function 
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 is continuous at x = 3 and x = 5, then find the value of a & b
15. If 
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If y = (sin-1x)2 , show that 
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16. 
Find the intervals in which the function f(x) = sin 3x; 
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(i)  is increasing   (ii)  is decreasing
17.
Evaluate :  
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          Evaluate : 
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18.
Solve the following differential equation : 
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19.
Find the particular solution of the differential equation 
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 given that y(0) = 2.
20.
If with reference to the right handed system of mutually perpendicular unit vectors
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 then express 
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21.
Find the equation of the plane that contains the point (1, – 1, 2) and is perpendicular to each of the planes 2x + 3y – 2z = 5 and x + 2y – 3z = 8.
22.
A football match may be either won, drawn or lost by the host country’s team, So there are three ways of forecasting the result of any one match, one correct and two incorrect. Find the probability of forecasting at least three correct results for four matches.
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SECTION-C

23.
Find 
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. Hence, Solve the system of linear equations :  
x  + 2y - 3z = -4,
2x + 3y + 2z = 2,  and 
3x - 3y - 4z = 11

OR
Using elementary row transformations, find inverse of the matrix 
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24.
Show that the height of the cylinder of maximum volume that can be inscribed in a sphere of radius r is 
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A given quantity of metal is to be cast into a solid half circular cylinder (i.e., with rectangular base and semicircular ends). Show that in order that the total surface area may be minimum, the ratio of the length of the cylinder to the diameter of its circular ends is ( : ( ( + 2 )
25.
Evaluate:  
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26.
Sketch the region enclosed between circles x2 + y2 = 1 and x2 + (y – 1)2 = 1. Also, find the area of region using integration.
OR

Sketch the region common to the circle x2 + y2 = 16   and the parabola x2 = 6y. Also find the area of the region using integration
27.
Find the foot of the perpendicular from P(1, 2, 3) on the line 
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.  Also, obtain the equation of the plane containing the line and the point (1, 2, 3).
28.
Every gram of wheat provides 0.1 gm of proteins and 0.25 gm of carbohydrates. The corresponding values for rice are 0.05 gm and 0.5 gm respectively. Wheat costs Rs. 4 per kg and rice Rs. 6 per kg. The minimum daily requirements of proteins and carbohydrates for an average child are 50 gms and 200 gms respectively. In what quantities should wheat and rice be mixed in the daily diet to provide minimum daily requirements of proteins and carbohydrates at minimum cost. Frame an L.P.P. and solve it graphically.
29.
A candidate has to reach the examination centre in time. Probability of him going by bus or scooter or by other means of transport are 
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 respectively. The probability that he will be late is 
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 respectively, if he travels by bus or scooter. But he reaches in time if he uses any other mode of transport. He reached late at the centre. Find the probability that he travelled by bus.






-------------------------------------------------------------------------------------------------------
www.cbseguess.com
Other Educational Portals
www.icseguess.com | www.ignouguess.com | www.dulife.com | www.magicsense.com

[image: image57.png]_1298061408.unknown

_1298063177.unknown

_1298065165.unknown

_1298065279.unknown

_1298067125.unknown

_1298067523.unknown

_1298067884.unknown

_1298068524.unknown

_1298067738.unknown

_1298067129.unknown

_1298066339.unknown

_1298066406.unknown

_1298066449.unknown

_1298066464.unknown

_1298066403.unknown

_1298066318.unknown

_1298065197.unknown

_1298065275.unknown

_1298065202.unknown

_1298065171.unknown

_1298064855.unknown

_1298065047.unknown

_1298065083.unknown

_1298065025.unknown

_1298064373.unknown

_1298064818.unknown

_1298063262.unknown

_1298063996.unknown

_1298062530.unknown

_1298062868.unknown

_1298062911.unknown

_1298062865.unknown

_1298062774.unknown

_1298062329.unknown

_1298062342.unknown

_1298061549.unknown

_1298061908.unknown

_1298058519.unknown

_1298060090.unknown

_1298060788.unknown

_1298060801.unknown

_1298060746.unknown

_1298060770.unknown

_1298060132.unknown

_1298060017.unknown

_1298060035.unknown

_1298060043.unknown

_1298058794.unknown

_1298057602.unknown

_1298058491.unknown

_1298058510.unknown

_1298058485.unknown

_1298053456.unknown

_1298057579.unknown

_1298053453.unknown

